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FI/INSTRUCTIONS

1. T9-97 7447 IasT & &9 § g1 / The question paper is in the form of test booklet. :
2. FEGAS ¥ qAT Rawomers vl F 39 for@q & O o § IO qRasr f<ar @7 1/ Separate

Answer Booklet is provided for answering Objective type questions and Descriptive type

questions.

3. YT qEGS TN F (0T UF & 1fers 9% g, od 1F w2l 392 g1 srvefT &t faw e Aot # & srqar

HET IT AT AT Fot FweT (I27: A, B, C, D ST F21 &1) ST I*aaHT % T4 T & a1 for@dr

# ) 2/ Each objective question is provided with multiple answers which includes one correct

¥ answer. Candidates have to choose the correct answer and write (A), (B), (C) or (D) as the case
{ may be, against the question number in the space provided in the Answer Booklet.

4. 99 FEIAE W & T uE-uE & g1 3 FEEures vl § v@E F e 10 ofF § o B A

forT 10 371 / All objective questions carry 1 mark each, 3 descriptive type questions carry 10

marks each and 10 marks for Hindi Grammar.

5. TRt w1 % U F oAfdr ST I § 9, UH ArAer § S0 AT 79 AT ST/ Multiple answers for a

question will be regarded as wrong answer.

6. W qReaHr § Suesy w1 § TH F AT ST FehaT § AT 3w FoIT otenT & q¥ 781 {397 Suami/Space

available in the Question booklet can be used for rough work, if required and no separate sheet

will be provided.

7. TUT F 7% (1) TIL-IF FrAT-F F 97 &% (2) 70T gRaHr & I qeaswr e & /17 3 /At

the end of the test (1) Admit Card with photograph and (2) Question Booklet & Answer Booklet

shall be returned to the Invigilator.




o~ - HTIT / PART- A
HIATT 3iAST / General English

" Fill up the blank space by selecting the suitable preposition among the alternatives given below.

LY.

1. The Chairman did not agree----------- the member’s suggestion.

(A) with (B) to (C)on (D) upon
2: The Policeman ran-------------- the thief and caught him.

(A) after (B) with (C) behind (D) upon
Select the correct word or phrase, out of those given below, that would match with the definition.
3. One who does a thing for pleasure and not as a profession

(A) Socialist (B) Aristocrat (C) Amateur (D) Artist
4. Such a large number that cannot be counted )

(A) Remarkable (B) Uncountable (C) Appreciable (D) Incomparable
5. A drama that ends in sorrow

(A) Melodrama (B) Parody (C) Comedy (D) Tragedy
Choose the appropriate word or phrase, out of those given below, in order to complete the sentence.
6. Mary was not hungry, so she ----------- anything.

(A) has not eaten (B) did not eat (C) had not eaten (D) may not eat
s Don’t worry about the exam. | am sure, you----=-----= :

(A) would pass (B) shall pass (C) will pass (D) may pass
8. The --------------- of evolution was put forward by Darwin.

(A) Process (B) Theory (C) Paper (D) Factor

Choose a word or phrase out of the given alternatives that gives the meaning of the key word given in
the beginning.

9. ILLEGIBLE ;
(A) not legal (B) that cannot be read
(C) very low (D) against Rule

/

10. UNANIMOUS
(A) objectionable (B) acceptable to all (C) very famous (D) well defined

11. DRAMATIST
(A) one who loves drama (B) one who acts in a drama
(C) one who writes drama (D) one who reads drama

Give the correct order of words and phrases to form a meaningful sentence.

12. (P) this house (Q) when (R) was (S) built
(A) PQRS- (B) QRSP (C) RSQP (D) QRPS

13. (P) happen (Q) how (R) the accident (S) did
(A) PQRS (B) QSRP (C) RSQP (D) QRPS

14, (P) since (Q) we met (R) a long time (S)itis
(A) PQRS (B) SRPQ ) (C) RSQP (D) QRPS



table word from the alternatives iven below.

15. There were a large number of —------""""" factories in Quilon in last century.
(A) TALE (B)TILE . (C) TAIL (D) TEIL
16. | waved to Gopal, but failed to -------—"""""""" his attention
(A) get (B) catch (C) attract (D) invite
17. When | am tired, | enjoy - television
(A) watching (B) seeing (C) listening (D) observing
18. John said the switch was dangerous and--—---""""% me not to touch it.

A) suggested (B) recommended (C) warned (D) threatened

(
See the sentence given in jtalics. Out of the four alternatives given below, choose the sentence with the
adverb too, that best conveys the same meaning.

19. The mountain is SO high that none can climb it.

(A) The mountain is too high that none can climb it.
(B) The mountain is to0 high to climb.

(C) The mountain is to0 high to climb none.

(D) The mountain is t00 high to none can climb it.

See the sentence iven in_italics. out of the four alternatives
expresses the same sentence in passive voice.

20. The noise of the traffic kept mé awake.

(A1 remained awake by the noise of the traffic.
(B) | was kept waking by the noise of the traffic.
(C) | was kept awake by the noise of the traffic.
(D) The traffic kept me awake by the noise.

91791 / PART-B
AT A IR arferes &l | General Knowledge & Reasoning Ability

21 a-g-rfaf@?r:ﬁﬁaﬁmmﬂmﬂﬁwmﬁuﬁmﬁ%wwmchofme
following metals is found in the liquid state in ordinary temperature? '

A) FTATAAH/Magnesium 8) FHU/Mercury

(C) |f2Fs/Sodium D) QrefRII/Potassium N
7.  ER aR@R @ Fad a1 TE T o / The largest planet of the solar SyStem is ...

A) E_g?I/Mercury (B) QLEE/Venus

(©) gdi/Earth (D) q%’.‘{:qﬁljupiter
53, | fam A AT &, i / World Peace Day is ..o

(A 3TRET/October 02 (B) Rycat/September 21

© 37TEA/August 12 (D) Gjﬂlé/]uly 01

4. FEH TIEET maa e T qerdt & ¥ 7/ Which of the following food materials has highest

protein content ?

A gh/Milk (B) 3751/Ees () AE/Meat (D) FAGaI/Fish




, HAREERTAFT H ™ fFIa T 2/ Who composed SHRIRAMACHARITAMAANAS ?
/ (A TAIRTH WO I[G/Siyaram Sharan Gupta  (B) FI&HE/Surdas

(€) PIRETH/Kabirdas (D) NEQTHAT JTHIETH/Goswami Tulsidas
AUTH & UTATHeE BT ATH T % ?/What is the Parliament of Nepal called ?

A) Tfaaf FHT/Pratinidhi Sabha (B) THE/Sansad

(©) FaIe/Senate (D) 3T9</Diet

YGAT W USIUT HIAdTell UGl Afeh Pl AT ?/ The first person who landed on the moon

A T TR/ Yuri Gagarin (By STel 3MFECIIT/Neil Amstrong
(C) Ul dTdell/Kalpana Chawla (Dy ‘\i?n'aT faferaeg/sunita Williams

HRT &1 YU a9 HGH Pl AT ?/ Who was the first Election Commissioner of India?

A) &. TA. AWA/T N Seshan (B) GPHAR HeA/Sukumar Sen
© & ©a. IMETE/V N Gadgil D) & TH. FUA/V S Sampat

29. STV ATV el AT & 2/ Where is Jantar Mantar located ?
(A) feeell/Delhi (B) a'il'é'/Mumbai (C) PTeThdl/Kolkata (Dy ﬂFn-‘T/Chennai
30. WRd & @YU & fRE Igese d gandt it # el o gl &S s @

HRA TY &Y ISTHNT el I-AT & ?/ Which Article of the Constitution of India describes the
Hindi language, written in Devanagari script, as the Official Language of Indian Union

(A) 3TTTSC/Article 344 (B) 3TeJeehe/Article 343
(€) 3TITOE/Article 342 (D) 3eTT5C/Article 431

31. QIURT T 39Tl e o1 %’IU'IT ?/ What will be the next term in the series ?
1,2,4,7,11, 16, e

(A) 21 (B) 22 (C) 23 (D) 20
RIS & dlT & 2/ Which is the odd item ?

0 <> o 7 w© CENAY

IR H fraa a7 @A ﬂ?—_[ai?) & ?/ How many squares are there in the figure ?

»

(A) 12 (B) 18 _ (C) 20 (D) 22




34.

35,

(A)

36.

37.

38.

39.

40.

41.

fFeY e “aT F HANDSOME @ KDQGVRPH for@r Sirar &1 3&T HTST # SMART

& for@r sroen ?/ HANDSOME is written as KDQGVRPH:in some code language. How will b
SMART written in the same language ?

A) WUDPV (B) VPDUW (C) XVEQW (D) YWFRX
3Tl 3Tepfa &Far g9l 2 / What will be the next shape?

T ] P 3 l a | 5
b (B) l (C) (D) T
#T9T / PART-C
3{HITTOIT / Arithmetic

@AY, @O 3R S i 373 & A7 g0 A ®) T TA UBS ITD TH BT AT R
AT ?/ The sum total of the age of Ramesh, Ramani and Ranjini is 80 years. What was the total of
their age three years ago ?

(A) 71 T¥/years (B) 81 TW¥/years (C) 74 T¥/years (D) 77 a¥/years
@ & 9.8x10* frEd SRR & ? /9.8 x 10% is equal to which of the following ?
(A) 980 (B) 98000 (C) 9800 (D) 980000

forelr adiem 3 65 % IFfigar WO F IOl U, 60 % HifAHT A JeOT gT IR 30 %
ardt et ol @€t gul 30 sEfieart @ ufderd € 2/ In an Examination, 65%
candidates passed in Mathematics, 60% passed in Physics and 30% failed in both. What is the
percentage of passed candidates ?

(A) 50% (B) 55% (C) 45% (D) 40%
fohdely 3HST T 1 IR 15 g F & (G 1 & &1 & 3R 15 & S &) ¥
How many indivisible numbers are there, between 1 and 15 (which are greater than 1 and less

than 15)?
(A) 3 (B) 4 (C) 5 (D) 6

forey F=aT AT 132 ¥ HIT FS W HOTHA 29 JUT AVEHSA 12 HGT & o F&IT T
g9t ? / Certain number when divided by 132, the quotient is 29 and remainder is 12. Which
will be the number ?

(A) 2840 (B) 4820 (C) 3840 (D) 3838

IS IME T TAF F 90 km TT A H 1.5 6 & FAT A1 &1 I a8 38 AR
# IR A fGem # 3T g ¥ oAl O 2.25 €El AlE HA T F fhael

qg??ﬁ ? / A car takes 1.5 hours to travel a distance of 90 km from the starting point. How far
would it be from the starting point after the next 2.25 hours, if it maintains the same speed and
direction ?

(A) 135km (B) 225 km (C) 300 km (D) 185 km

o/



~ wwﬁm#mmﬁgﬁgﬁﬁﬁQM%waﬂﬁlmmﬁ

72 qEad a9 a5 € a 38e fhcel qrad 9t 2/ A book seller sold 76% of the total

number of books in his shop. If 72 books are now left in the shop, how many books did he
sell ? ‘

(A) 720 QEc/books (B) 760 GEceh/books

(C) 228 Q¥ch/books (D) 300 gFcieh/books
6.5x0.065 T T .......... | / 6.5%0.065 is equal to.............

(A) 422.5 (B) 42.25 (C) 4.225 (D) 0.4225

UMY 12+5=13 43, =

(A) 9 (B) 8 v (€7 (D) 6

U TN BT AT 3T A S W SHB A pF 37eUTe # T ? / If the diameter

of a sphere is halved, in which ratio its volume will be reduced ?
(A) 2:1 (B) 4:1 (C) 8:1 (D) 6:1

IfE 6 o= DS H 20 At #F @ W T & A I FH 8 Fd fhaa T A @@
&Y TP ?/ If 6 boys can complete a piece of work in 20 days, in how many days 8 boys can
complete the same work ?

(A) 15 (B) 12 (C) 8 (D) 9

I 4 AT &1 g 3 A F AT F WeR ¥ AR v Al FT HeF W8T AN TE
AT P e HT 819 ? / If the price of 4 chairs is equal to the price of 3 tables and the price
of one chair is T 48/- what will be the price of one table ?

(A) 58 (B) 60 (C) 68 (D) 64

B g I fFE TTUROT s Y & ¥ 20 W F GIAT & S 2/ In which rate of

simple interest an amount of money will be doubled in 20 years ?
(A) 4% (B) 5% (C) 6% (D) 4.5%

T GFFER A TF fQellar T 6/- F d=aR 20% w1 FaAAn| el 1 HT JeT F1
£2/A shopkeeper earns 20% profit by selling a toy at the rate of ¥ 6/-. What is the purchase
price of the toy ?

(A)X 4/- (B) X 5/- (C)X 6/- (D)X 4.5/-

I Al a¥ & adex 1 01 a0@ AR ¥ A 36 a¥ & R A1 25 aw Fi
@1 f&a @9m ?/ If November 01 of a year is Saturday, December 25 of the same year
will be ...........

(A) TRATR / Sunday (B) /ITAGR / Saturday
(C) AhAX / Friday (D) I¥AN / Thursday



51.

52,

53.

54.

55.

56.

57.

58.

#TIT / PART-D - \

HTYeX ¥ / Computer Literacy
RramRd & @i @1 RAeeu 3 e Ik a8 & 2/Which one of the following is not

input device ?

(A) it U&eT/Keyboard (B) HATZH/Mouse
(C) M=cT/Printer (D) gam £:f Eﬁl? dA%i/None of these

REg # I Reed WTedd i & & ?2/Which one of the following is an

operating system software ?
(A) o 3THRI/LEAP Office
(C) foa@w/Linux (D) Ze1dt ¥ S &1/ None of these

=g # Rrad HER0T 7T @RSl BUAd) ¥ ¥ ™S & 2 / Which one of

th‘e following has more storage capacity ?

(A) & & &/DVD (B) dr & &r/vcD

(C) s f3&®/Hard Disk (D) welrdY f2%h/Floppy Disk O
mmmmmwmmmmmmﬁmmﬁmﬁas
+7 & BeafRfEg & ¥ frger g fhar Swem ? / Which one of the following can be

used to toggle between English and the Indian languages when the system is Unicode enabled ?
(A) CTRL+ALT (B) SHIFT+ALT (C) SHIFT+DEL (D) CTRL+DEL
R e @RpEe B Reee w & P feafata § § frwan g3 e S

HHhaT £?/ Which one of the following can be used to select the whole document ?

(B) 3$ TH TH UfeaR/ISM Publisher

(A) CTRL+A (B) SHIFT+A (C) ALT+C (D) CTRL+D

wwﬁ%%ﬁq%mﬁ@mﬁaﬁwmwﬁmmm%?/

Under which menu in MS Word, Header and Footer can be provided to a document ?

(A) T/ Insert (B) UST &i33¢/Page Layout
(C) =g/View (D) Reg/Review Y
sl Ry & v Reafafld & § @i @ goif uoa Aa3se 99 @ S 3ugw T ?

Which one of the following is the most suitable keyboard layout for Devanagari script ?

(B) 51 wIAfeam/Easy Phonetic
(D) €8 IrseR YfFHITeA/Typewriter Remington

(A) sef&pTe/INSCRIPT
(C) wAfes SfTesr/Phonetic English

g F Pl e - GETUS FE & ?/ Which one of the following is not a Word

Processor?

(A) TS Uthere/Word Perfect
(C) fae=IsT Ta di/Windows XP

(B) SlleH TSWI/Lotus WordPro
(D) 31TUeT 3R e/ Open Office Writer
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60.

¢ l"l.

/?ﬁﬂ &PT ATAT FIT & ?/What does MANTRA refer to ?

(A) BT TaATHS & AT FIEA R UGH HJUANT FFCAI /

An Application Software used by Ministries for Office Automation
(B) I AT 3Hedie ol / A Machine Aided Translation Tool
(c) aRkaga mizat & Taaford 3EIRETOT & U UG HIUAT HFEdIR /

An Application Software used for automatic maintenance of transport vehicles

(D) 3T ¥ PIS A%l / None of these
Bl a1 v o (RE T 37906) crars IR &= & fow 79 § 3% 3ugs & 2/

Which font is most suitable to prepare bilingual (Hindi & English) documents ?

(A) DVITT.... (B) DVBTT.... (C) DVOT.... (D) DVTT...EN
PART-E
TIGRONcHA® A / Descriptive Type Questions
fAafafea fRvdl # ¥ e e W [Agy Af@:. (10 37)
() R geer iy HRT P Fgh HT fRaT (iiiy HTTER

IF Hged F DT R F ool 7@ & 71 ¥ AT za A QI F T RS sl i
mgmmmwmgmmﬁmmaﬁmw
faf@e:. _ : (10 37)

afafl@a Uiy # U ¥ e 38 S R v usl & 3R w@aw F @ 1039

Myt &1 Yo RS FAT S g T 3 WY A FGF R T, SHD IUH Ped &
A aR W SHH AT I8 & 5 MY el &5F & IR G B & Fh| gdr & o7 A
Ater oRada o 3R Rl ReE qar & gEalg @ SA HE S fow o U forr S ¥
T IR N F IFIR  IFUS F AT AT o) W A SR I TR AT AT 370 Saen
TREA U AT ST TR, TPl gEl AT AT IR AT I3 &Y, dedl AT ATl HLS, &6 AT Gl
& U, Ao AT P U, T, AY, ARG, €, %S T FI U & & A U IS
W yeR Hio, SN, e, Rueh, 9eh E anfe dee usus & ¥ A fFew §oH
Agga, B AR eE F ar 37 ga ugrd ey A A H HFER 25 ml F 150 ml TF
fBrem=n uZam| Yo & vyt B G TAT 36 G B QA © B IEUE S & e
T Saa ¥ 3wy Farer er I s gqen J @ IR e @ 99 ae @l 3Ny o
& G TP Jad P AGD Tl H U d TH F Uge TH ad FAawd, § AR A8
frer @ea & D iy e e §wT gar & aUER A1 enpEn fHemn S ¥ S
AT &7 @ @ AfEE a8 & agf 2.5gm @ 3@ 78 Homer okl

(i) FIUT F FT ATAT & ?

(i) DD F g FguE & w7 F fw I E ?

(i) 31U P IMEIHAT T § ?

(iv) 37Ut & AT HE g e ?

(v) Y B FEaR G dGE g9 AU BT F gy, fFg AEr # Faw Sa g ?

7



Refafa et @ qg S
(i) H TAR & & AT & foU yga o Ty
(i) A ool e a7 FEET g3

(i) I e S N gEasd o

fArfaf@a geat &1 v ve gy & g fifdw
@) U & A @sr @
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